X3 (F)

ANBER-E=R

(Fk)
IEES | SHE495 AW #ITH S M6FE1 A 268 10 B 20 5
I %4 RERTFERRRE-BEETHAMELS B o5 R HEERER A AKX | EBEEFAL
T=HIME S 6 3 A 29 HFRY % & % ¥5,210,000
TEHAF | kRIS A F xE i % ¥s5207300 | T % M 0.99970922
B 1K 7] PR 1 4% ¥4,692,400 E;"TLE‘ ,ff” f g g 1.00035616
= X (F & FR AT E 3 KEE 1 %2 wER
(BR)IIME = 5% Rl R ERR L RETEMo59-10) /IMER RE ¥5,150,000
(%) EILE% EER RSN R R Emmedo | b1l I B
FEHEE(A) RIGERMBAFE)MRRTHLETS3 | FH H— ¥4,900,000 &AL
(BOMmREE RIGRBEHEREMHETZRM1622-7 | FHIR JTHE R
(¥k) KR % fid B R RAAFER) BT E R 206-122 | FEAE K —ER ¥4,660,000 %tk




A#gE B S

BEE2EBREANICEIT SR HEBA

D HREIESL . RERDERREE - BAETHERSEIE
@ A % B . ff 6 & 1 g 26 A
@I & : =

B
@ HRIEZDERHE : A SV

i 2 = # o i 15 B | igzsk

AS249 103% C524 #t
BB TEANLSMELLE i 7 103 #t

BS % L it
E%%I%(:ﬂ?éiﬂiim%1¢ i?&'gﬂmliité$$ﬁﬁﬁ§%é$¥ 5 *i
I 5 o o §§§%§ﬁ§§LTI$mﬁﬁ“ -
U TEIZIONTD O pEomRLE. FAEEIEZOR
®oOff M @ TE#E

@ FELEFTEDOKR

@ FHLIEORR 5 it
7 » #h D FHER VRETEDEE

@ {52 EH

@ EHSTTOEE

@ i

<3ﬁ%ﬁ%&6ﬁﬁﬁﬁﬁﬁsﬁ%

® r@mERUSMCBNTEETAS

ES ]
(BT EDH T |- EEE) 5

(ERED>55. RIERMTESR
TELEERTEIEE65T- 3t
ELEZICLZEBES)
B2 % E B ¥ 5




(ZhRF)

= oM N E — B

K

£ = T % ( 2 B ) 4% o
TR T R O B R OB O 72 R
SEREA9TE | BRI EE - AR TR Y SRR §
5 it W e ST 7 B P
T i %
i B -
£
ol o %
B e S LSRR T LTS3
ml HmEE () E
S o =
ES 4, 5 W =
¥
- #
% %= A H AN 6 4 2 A 1A
W MEFMEEE AN AR e 7 H [a]
% MEMLEEEAN A i Iz H %
FE e L A e A H
LI KIEE (Y #) 5,390, 000
EHEEREE (A E) T [A]
AN i %
EERRE (| E 5 ) 9
Z F #
- AT Sf 64 2 H 1A ~
(Y ) 4AFf 64 3 H 29 H 58 HH
BT ( MZEE) AR E A A A i ]
g | ZLCEZI &R H H R H
Pl owr(mEE) AW F A A A i ~
B 504012 35 1) 5 SRR T 7 O S FE i =
H




